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UniLM Server — QG Task Input/Output Example
M Output

{

"bkd": "l hate winter because it is too cold."

i

"nouns’
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WHAT IS PACEMAKER

UniLM Server — QA Task Input/Output Example

Output
\In t P
{ 4 - 1 1 =& - o - - +
" - o o . . text I hate winter because winter i1s too
bkd™: "I hate winter because winter is too cold.”. nouns”
"q": "Why do | hate winter?" "winter'
} ‘agset”
"winter is too cold”
"Why do I hate winter?'
11.815621376@37598
"nouns'
ntel
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SYSTEM TEST

ystem test Sheet — 1

TSRS AIAE EAE AIE
SID(§2A0]AID) | TID(EIAEHO|AID) | Operation (7|5, =E) Env (E|AE 3H7) Input (4) [ ol | AR 3 AI7| 2308 Payload Response
Chromev85.0.4183.1| =g o ol MT o|ZES DALS y {state : 'success’,
1.1 T1.1.1 S22l email2} password 0IZ 43, CIZES ZtAIR 12020.10.10] 2020.11.04 {id, pw} _id, name, type, token}
A2=0| SRE AP - e
11 T112 24 21248 Aol P i Chrome v85.0.4183.1 S2€ email, 2RE ol Ay 2412 2020.10.10] 2020.11.04 {id, pw} {stater"fail’,
. R ﬂgra?"il‘a—‘?—; ﬂEo' 02 password =e o o o : message:'Password is wrong.' }
o £ gl
Chromev85.0.4183.1| S2&IZ| 42 emaila} o= Alm Al . { state:"fail’,
1.1 T1.13 0 password olE Ay 2412 12020.10.10| 2020.11.04 {id, pw} messagerID is not exist.'}
Chrome v85.0.4183.1 [S55|2| 22 emailzt 2240] o1z M3 21012 ; { stater'success’,
12 T1.2.1 2 passwrord OIZ 42 2412 [2020.10.10] 2020.11.04 {id, name, pw} message:'Sign up completed.’}
Al AR SE&[2] g2 Chrome v85.0.4183.1 |S 2|2 042 emailt Zao|| OI1= ATy, MH5}2| ke
1.2 T1.22 emailzt B LS, ALE2} 02 |7 oA %= password | password | ¥ [2020.10.10] 2020.11.
0|52 S58ich. =Ee
Chrome v85.0.4183.1|0|0] SS& email, 28 3% |,z Ay e g oA ! { state:'fail’,
1.2 T123 02 9| password QIF Amj, 0|0] SEE AIY| &AL |2020.10.10] 2020.11. {id, name, pw} message:'ID is already exist." }
AHEIY E2%] Hinl 2UEZ | i OIS =2 . '
13 T13 Chrome v8.0.4183.1 2SI STE emallst A8 SSE emall o™ | 22 [2020.10.10] 202011, fid, name} eSS e )
= e : .
AZE0 0[0] SE 21 Chrome v85.0.4183.1 [A|AEIO| S2&! email 2} 22 - { state:"fail'
I} AFRZ} 0|20 2 H|aly e . —erl o= =X A EZ Al AR i . ‘
13 T.1.3.2 qxroirgmg;lii} (L] 0 S AtB2 0|2 Ay S Ay 42 |2020.10.10] 2020.11. {id, name} message:'E-Mal is not exist.' }
=ES
Chrome v85.0.4183.1 |A|2&0ll SZ&|2| 242 email W = Al AS ! { state:'fail’,
13 T133 3} AFE2} 012 Y S L 419 12020.10.10] 2020.11. {id, name} message:'E-Mail is not exist." }
QISEZ, BIE AI8At 0|8, 2 : .
Chrome v85.0.4183.1| 52 sziniaiss wie ool | ABEE 2P dMRE F| 4,0 {token, id, name, p { state:'fail',
1.4 T1.41 02 xe |§1‘§_§' t2 ue 2 HE Am) #419 2020.10.10) 2020.11. W, pw_new} message:'Password is wrong' }
QISEZ, BIE AIBAL 0|8 : . .
Chrome v85.0.4183.1| o\ 7= 512y tjoim s zangy |18 B2 28 GB(RE F| a0 {token, id, name, p { state:'success',
14 142 = LE*EX‘LIEIEH{EE%;AOII B 4£343), 2028 HU 12020.10.10] 2020.11. w, pw_new} message:'Save completed.' }
QASEZ, HIE ABAOIF, | 5ayzim axy Almy(oc =
14 T143 2708 sze 5, 20| MOMES0AIE T gus sy dias, i MEIE T LHEE I e 1202010.10] 202011,
B Ao| HeE A% 97| 9 bl B b dvis “8am
QISEZ, SHIE A b | AYYR 27 S (AHBA : . .
Chromev85.0.4183.1| = o= i ~ {token, id, name, p { state:'success'
1.4 T.1.4.4 %, AM82t OIS 0|, 2 | 0|5 R7], H|YHE ¥F), | 24 |2020.10.10] 2020.11. . ’ - . .
02 ol S B bjys 2ien w, pw_new} message:'Save completed.’ }
QUSEZ, SHI2 A H|YH | AYYE +F GS(ABA : . .
1.4 T145 chrome v82.0.4183.1) & "2 Aig 2t 018, b1 8l | 08 #2, HE#a 84)), | 42 2020.10.10] 2020.11. froken, id, name, p [statersuccess
e o)l ERlEs W, pw_new} message:'Save completed.'}
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SYSTEM TEST

ystem test Sheet — 2

SHZ2 Q13 EZ, A 0|8 = M3 3 2| = : ‘
2.1 T2.11 Chrome v82.0.4183.1) BHtE 212 =2 WS 018 | o1z 43 a2 s 43 | w12 [2020.10.10] 2020.11.04 ok, e e {sfatersuccess’
S| HHS SAER st SHIZ U2 E2 4 0|2 X
2.1 T2.1.2 < "ﬂ'ﬁ; b ,ﬁg 3 | Chrome v85.0.4183.1) }DIEEAEH% %ﬂ"; 15 | o1z 42 42 w4 4 | 22 (2020.10.10] 2020.11.04
Chromev85.0.4183.1[Ht22| ¢f2 015 EZ, Y {token, channel_na {state:'fail",
2.1 T2.13 o TETT R e QIZ ATy 24412 12020.10.10] 2020.11.04 . ot message:'Token is not exist’,
olg, a4 ¥ me, channel_desc}
board_data}
SHI20|IZ E3 TAE N . ! !
22 T.221 Chiomev82.0-4183.1 | B4 E";S;Hflfiﬁ 5 43 g AH 43 | BUL |2020.10.10| 2020.11.04 ftoken, channel_id} ‘Sgg;ﬁdﬁé;cf;)s'
SAERM 2l5hs MY |Chromev85.0.4183.1 |SHIZ QIF E2, SAERM o= Al A - { state'fail’,
22 T2.22 Z L2 HA 02 SE2g|2| g2 2HLID A5 #4$ |2020.10.10] 2020.11.04 (token, channel_id } message:'User is not channel's host' }
Chromev85.0.4183.1|2Ht22| gf2 015 EE, 2 & o= Al Al ) { state:"fail’,
2.2 1223 FIETS) AS LIf 2419 2020.10.10) 2020.11.04 {token, channel_id} message:'Token is not exist' }
c 8504183 | EHERVSES BLERM, - o =0
23 T231 bR T SEBEEDAEOE A [T CCTLE, T < M2 (2020.10-10] 20201104 X no test A|2|El Usecase
- e
Chromev85.0.4183.1 SHEUSES SLE
T prrid =
23 232 02 SEEAEREASID Ao US4 LML 1202040-40] 20201104 X no test A|2| €l Usecase
SeEE
5 A =2 g Diarsle ol
T =TT Nra—|
24y
SHEUSES SLERM| (12 yo . = o
23 3 Gh%eme—vS%—G%SB—?eQ. g S 2 dfu o2 ojey| TS CSAEHETA: | auo 20204040 20201104 X no test A|2|El Usecase
e e serTe
23 T234 shromev85-0-4183+ SUBAH RS 525, 25 =3 M2 1202010-10] 20201104 X no test H|2| €l Usecase
i 02 AHD Aot AEE -e = = o =
Chromev85-0:-4183-1 =3 SAE
2.4 T24.1 0 B = D USHSAAYRELYE | R 202050-10] 20201404 X no test |2/l Usecase
SEEAE
5 A E2 M atsH=-ol Ch 5041831 | SHEUZ ER SAE
2.4 T2.42 = o ’ el & Ty US4 A2 1202010+ 2020-11+064 X no test A|2|El Usecase
HYB=MY SEHA-EAE-
Chromev85:0:4183-1 = SUSEZEE = o
24 7243 02 e 44 242 (2020.16.10| 26204104 X no test Al2lgl Usecase
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SYSTEM TEST

ystem test Sheet — 3

Chrome v85.0.4183.1

{ state:'success',

25 T251 e T = = 43 HAE 52 45| AR |2020.10.10] 2020.11.04 {token, accesscode} board_data)
{ state:'fail’
oylz ojz g2 cS=2g \
25 T252 W9 71 B2 Qs Chrome v85.0.4183.1 2812 “Igré‘;" oo s=g QZ M3, HAE S2 AIjj| ZAI 12020.10.10] 2020.11.04 {token, accesscode}| message:'You are already guest in this
sl A 2o ALERM S channel'}
=
N Chromev85.0.4183.1 (282 S &2, Y22 % 5|2 2 yre c2 am| mao { state:'fail’,
25 T253 St ac OlZ H&. HAAE 55 Aoj| 24412 (2020.10.10] 2020.11.04 {token, accesscode} message:'Channel is not exist' }
Chromev85.0.4183.1 |26t22| gf2 015 EE, BE/ o= Al AS { state:"fail’,
25 1254 02 el 3E OIS Ay 24412 12020.10.10f 2020.11.04 {token, accesscode} message: Token is not exist'}
Chromev85.0.4183.1| 282 S E2, SAERM [AS Y3 Y HEY S&| o ) { state:'success',
26 T.2.6.1 EETTETIF E g sjul ozt 24412 12020.10.10f 2020.11.04 {token, channel_id} channel_data_obj}
5 S ) Chromev85.0.4183.1 [2HIE Q15 E3, SAERZN = o ’ { state:'fail’
AE AR 3|4 513 o2 = S . O|= Al Al .
26 T.26.2 SAE M aHY 510 ¥ S25i7) oS QD 01 A 24412 12020.10.10f 2020.11.04 {token, channel_id} message:'Channel is not exist' }
Chromev85.0.4183.1|2Ht22| gf2 015 EE, 2 & o= Al S . { state:"fail’,
26 7263 02 HEID QIS Ay ZHAIR 12020.10.10f 2020.11.04 {token, channel_id} message: Token is not exist' }
Chrome v85.0.4183.1| 812 Q15 £2, AAEZM (IS 3. g HE AL 4, 0 ; { state:'success',
27 T271 EETEIN E g sl ozt 2419 12020.10.10f 2020.11.04 {token, channel_id} channel_data_obj}
il = Chromev85.0.4183.1|2BI2 2 E2 HAERM ’ { state:'fail'
AE 2 2|4 3101 o2t = I o= AlT} A2 i, X
27 1272 HAE 42 g 5t Hat S=giz oS 9D Q1= Almy ZHAI2 12020.10.10] 2020.11.04 {token, channel_id} message:'Channel is not exist' }
Chromev85.0.4183.1|2HI217| g2 QIS5 EE, 2& o= Al O . { state:'fail’,
27 T273 ALID OlZ Almj 24412 12020.10.10] 2020.11.04 {token, channel_id} message: Token is not exist' }
SHEYUSEE, 252 M 4=y 5 = -
Chromev85.0.4183-1 R it - Rar-acros AE 2
238 T28.1 0z |EEREEB SRS T Ty Y =7 MR 2020-40-10] 2020404 X no test |2l Usecase
ZEIHAED =TS
‘(hFemE 85 9 4183 1 EH: oo E\_ L—_
- i =
2.8 T282 o U |SEEAID S 2015 ASH 242 |2020-40-10] 2020-11-04 X no test A|2| €l Usecase
S AED b2l siido) 02
HerorE A== 2oL AAED
HLESAZoA -2
SHEUSES SLE
Chromev85-0:4183-1 I
2.8 T.2.83 0 TSR HESAED2E A3 LML 1202040-40] 20201104 X no test A|2| €l Usecase
2EID
2.8 T.2.8.4 Chrome v85.0:41834[S8I221 I8 S =2, =8 S LML 12020:40-40] 2020104 X no test A|2|El Usecase
. 02 D DE ALED AS o 40- - 2l

PACEMAKER
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SYSTEM TEST

ystem test Sheet — 4

9_'5 A‘l_T‘__ EJXH 7_"2-{2
Chrome v85.0.418 | 2HI2 213 E2, H2E | 55 256 51 A 2ol 1 2020.10.1 {token, channel { state:'success'
- O] HAAEN|A| AL ' - ’
2.9 T.2.9.1 5102 2 eee Fap [N A Ex1ll771ﬂ oM | 2H4le o |2020.11.04 id) board. data }
ALERM Y75t SHI2 212 EZ, HAE ;
Ho| HAE S2 5| | Chrome v85.0.418| 5 i =212 ofe 2y ol= A 24 [2020.10.1 {token, channel_| { state:'fail’,
29 T.29.2 = S 3.102 1S5 IIDI @ e A AT =eT 0 2020.11.04 id} message:'Channel is not exist' }
Chrome v85.0.418 |2HI22| 42 215 EZ, ol= Al Ao |2020.10.1 {token, channel_| { state:'fail’,
29 T293 3.102 2 4D S e 0 2020.11.04 id} message:'Token is not exist' }
31 T311 o Chromev85-0:-448 = FEFoHI=EE | 2020104
: 31 A SRS e 3402 SHEEEEE s T 202004 no test
3.1 7312 8‘-_:_ '__°§ 25t | Chromev85:0-418 o oj= US4 -S-3tHO e 2020101
. 3.0 3102 SHEA G WS ED o= I o 2020-H-64 no test
5 = 5 | e S 2020101
W@Heme—vs&@% = ;ﬂ%—i:"hz.__v__él_' 304
3.2 T.3.2.1 2 ._oE s 3102 SHEUSER Fuos e 5 2020-+1-04 no test
SAE Y M S HE c 850418 = amp = sioio 2020-10-1
3.2 T3.22 o2 3102 SHEAUUSES | - 9% = FHe o |2926-+e4 no test
- _ Soy Ore A 2020-10-1
33 7331 ﬁ%ﬂ%%ﬂﬁéfzq“mff?&“g suzozea ;°§&;=L" = e P20 0001104 no test
C2HES2-M2R . ==
HAE AL A= HE Chre 950 418 = & slnioa 2020101
33 T332 o2 3102 SHEAQIR2USEZ | ©° = é% N o |2926-+e4 no test
Chromev85-0-418 = A EFN U= | 4 2026164
34 T.3.4.1 S SIS WA b 3102 SHEUSEE == 2 o |2e26-+-e4 X no test A|2|E Usecase
S zuE uote | Chromev85-0-418 =y Esipaa| 2626-10-1
34 7342 eT=E 310 SHEAY2USEZ | -° = o= = o 26201164 X no test A|2IEl Usecase
AY ES0| Y=L
Chrome v85.0.418 @M=, 222 A =5, 2020.10.1 { state:'success’
4.1 T4.11 5101 0| BA|SH 7| o SHE S EZ HAE Y B2, Lf 2| 2L - 712020.11.04 {token} i !
pal El 3.102 e\ A o 0 board_data }
B0l HEZ DC  S8)E MH2RE
Chrome v85.0.418| o QlZ A} & 3peR 2020.10.1 { state:'fail'
Hf22| ol o|2 EXR o = A2 it .
41 T.4.1.2 3.102 BH=A YE AS E2 o= e 0 2020.11.04 {token} message:'Token is not exist' }
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SYSTEM TEST

ystem test Sheet — 5

AROl2hRE B 2 51t | Chrome v85.0.4183-1
42 T420 ! ™ o2 X no test Z|2|%l Usecase
£
Chromev85.0.4183.1| 882 S &2, SLERM| o= 0 cro mm Az | malo {token, channel_id, { state:'success’,
5.1 T5.1.1 0 Sagl qaD, oo oz || U343 BRYY S | HUL 12020.10.10) 2020.11. i) channel dath of])
SH2 oz £2 SAERA
5.1 T5.12 Chrome v85.04183.1|c 2 ol a§di, cisd 015 Dle)| ©12 4@ Tt 4t Al | 2412 2020.10.10] 202011
52 B2t 3o -
M2 chal 4y N . )
SHIZ QIS EZ, SAERZM . { state:"fail’,
5.1 7513 Chrome vgg.o.m 831 IS2g|2| o2 AHEID, T2 0 QlE AT 24412 12020.10.10f 2020.11. (token,gzzynel_ld, message:'User is not this channel's hos|
B t')
Chromev85.0.4183.1|26t22| gf2 015 EE, BE/ ol= Al DAl {token, channel_id, { state:"fail’,
5.1 T5.1.4 244D, ¢ 0|2 A5 4 H4212020.10.10f 2020.11 title} message:'Token is not exist' }
Chromev85.0.4183.1| 882 AS &2, SLERM| o= 0 cro sy Mz | malo P { stater'success’,
5.2 T5.2.1 02 Sea oD So2 aap| S 43 HRAHHS | 2412 12020.10.10) 2020.11. {token, unit_id} channel_data_obj}
2HZ 0z E2 SAERN .
Chromev85.0.4183.1 | Eo g i Sur=a| ore o= Al Al P { state:'fail’,
52 T5.2.2 02 SEE 2 E‘I:I?6 IEDUI_ZI o2 01 A 24412 12020.10.10f 2020.11. {token, unit_id} messagexUnit is not exist' }
[EAER2A 2elshs 2HEe] -
CHed BtLt 2|7 - )
B A Chromevs.0.4183 1| 2412 815 £2 sas2y { state:'fail,
52 7523 02 VU S2g2| oo 2HYID, 2E ¢H QlE AT 24412 12020.10.10f 2020.11. {token, unit_id} [message:'Useris not this channel's hos|
2D t'}
Chromev85.0.4183.1|2HI27| g2 QIS E2, 2& ol= Al A o { state:'fail’,
52 1524 I, DE creliD 1S Al 241 12020.10.10f 2020.11. {token, unit_id} message: Token is not exist' }
SHl2 012 £2 SAERA PR . :
53 1531 Chrome v85.0.4183.1\ 2 ) 343 1D, 412 HID| 912 43 B9 018 4% | 242 [2020.10.10f 202011 ftoken, unit_id, title { state:'success',
ol channel_data_obj}
SHIZ 0Z E2 SAERA
53 7532 Chrome 85 0.4183.1 c 2 g1 34 1p, 412 prelip| 915 42, B 018 £21 | 241 [2020.10.10] 202011,
CHl 015 0|gY
[sAE2 A el5te o] SHl2 oz £2 SAERA L -
53 7533 pege sy |ChomevBS.04183 | cag yip, Buian g oIz A 2412 2020.10.10] 2020.11. {token, unit_id, title {statevfail’,
02 cholp, crel 012 } message:'Unit is not exist" }
SH2 oz £2 SAERA [ il
53 1534 Chrome v85.0.4183.1 S=ci7) o2 YD, RE o oIz ATy 212 (2020.10.10] 2020.11. {token, unit_id, title " {state: fau, Fehost
D, el o2 message:'User is not channel's host' }
SHIEZ FS o= E2, RS N R
Chrome v85.0.4183.1|5, 4 “’ggg’ crel o o= Al S {token, unit_id, title| { state:"fail’,
53 T.53.5 244D, 2& £ﬂ|D, ch2l 0| QIS Ay Z+4l2 12020.10.10] 2020.11. message: Token is not exist' }

PACEMAKER 16



SYSTEM TEST

ystem test Sheet — 6

Chromev85.0.4183.1 | 2HI2 212 EZ, SAERM (S 43, sliE HHalol A PR { state:'success',
54 T.54.1 gi_%‘% S D, SHFE THlD oﬁg gfﬁ ozt 241 12020.10.10f 2020.11.04 {token, unit_id} unit_data_obj)
SHiZ oz £ SAERA e
54 T54.2 Chrome v85.04183.1| E 2 3ygip, St ere o1Z Ay M2 [2020.10.10] 2020.11.04 froken, unit_id} {state-fail’,
EP-%‘—JID . — message:'Unit is not exist' }
BAES HE TIOl B2 F2t
SHZ 012 E2, SAERA { state:'fail’,
5.4 1543 Chrome v85.0.4183.1 S2¢(2] % 24D, 2E CH QlE AT 24412 12020.10.10f 2020.11.04 {token, unit_id} [message:'User is neither host nor guest
2D of Channel'}
Chromev85.0.4183.1|8Ht22| gf2 015 EE, 2E ol= ATy e L { state:'fail’,
54 1544 D, BE creliD 1S Al 2412 12020.10.10] 2020.11.04 {token, unit_id} message: Token is not exist' }
Chromev85.0.4183.1 [2HI2 QIZ EZ, HAEZM |QIF &, aiT THlo| AL oo o { state:'success’,
55 1551 S22 39 D 2612 TRlD E g 50l g 24412 12020.10.10] 2020.11.04 {token, unit_id} unit_data_obj)
SHE QS EF, HAERN e
55 7552 Chromev8>.04183.1| s 2 31D, S22 e LIRS 22 [2020.10.10] 2020.11.04 {token, unit_id} messagéfﬁrtﬁ ifsarl1|c;t oxist )
D .
AAE 2g Tel sl 2
U2 012 £2 HrERN (state: fail",
55 T.55.3 Chrome Vgg'om 83.1 SZ2g|2| %2 2HYID, 2E ¢H QlE ATy 24412 12020.10.10f 2020.11.04 {token, unit_id} [message:'User is neither host nor guest
2D of Channel'}
Chromev85.0.4183.1|2Ht22| gf2 015 EE, 2 & ol= ATy A o { state:'fail’,
55 1554 D, BE creliD 1S Al 2412 12020.10.10] 2020.11.04 {token, unit_id} message: Token is not exist' }
SHEUSEE S
56 156 Chromev8S-0-483H S 2 e apin, Bu= oD, HEHBBKD-SF43 | 3% [2020.10.10] 20201104 no test
St St
SHEUSES SLEZM
Chromev85.0.4183 1 |[S2%1 #iD_Sut2 cielp.
56 7562 S ot D 21243 BKD 5S4l | 22 |2020.10.10] 2020.41.04
o 2
BKB1B
S Aco 4 dalsie choll
Sl = A e L-El: = .
E SHBKD-| ¢ 85911831%2 EUSES
56 7563 R © PSS cagiayup_sH2ayore 012 4l 42 20201040 20204104
= 02
CHUD-E-BKDD
c 95041831 SHEUSER. S
56 564 s . gﬁ :S A 2= S = LML (2020-10-40] 2020-11-04
02 D BE
c 85.0.41831 SHEAR S =2, BE
56 F5:6:5 02 ) D= CHUD 2= HSE 4L 120204010 20204104
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YSTEM TEST

ystem test Sheet — 7

2| M5t BKD M7} A g
= A HES 22510] thd [0 2F Wofl MAIEIR| Y=
2= EYEDY: = Ik & =
62 1621 ZAH BKD R4S 44| Chrome vB5.0.4183.1| ) ol w15 marer | o, cloleisioia aol | e | 2020101 | 5050 11 0a . notest | Usecase 522 715l
= AAIE gyt BKD 2Aef A7t Bty el <
C .
BKD-PATSA4H B A}
61 1612 SOt 2tol oS A= | Shromev85-0-4183-4 (61 0M BKD-PAHOI AR | SAOIIEHBKO-UUR | 0o |500010.10| 2020.41.04 . — A2l Usecase
R - S 02 S YA HEAEEE s o
AHBBKD-SAAH-AAS
=2 o AAHES SO | oF2EHIORA A -G
= BKD S M Al | Chromev85.0.41831 i
62 Fo2+ e e o BKD-BACIAAS-2ueta | S-Efoteffori Mol | MR 1202040-40] 2020-H-04 X notest Aol Usecase
bl 0 A E S E 4| At 21
BKB-BAMZHAR -0
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1 In the beginning God created the heavens and the earth. 2 Now the
earth was formless and empty, darkness was over the surface of the
deep, and the Spirit of God was hovering over the waters. 3 And God
said, “Let there be light,” and there was light. 4 God saw that the light
was good, and he separated the light from the darkness. 5 God called p
1 the light “day,” and the darkness he called “night.” And there was darkness What was over the surface of the deep 7 darkness 1.762018
evening, and there was morning—the first day. 6 And God said, “Let
there be a vault between the waters to separate water from water.” 7 So
God made the vault and separated the water under the vault from the
water above it.
- separate water  What did God say to the vault between the waters to do ? separate water from water  1.370237
- light * day What did God call the light ? day 1821832

And it was so. 8 God called the vault “sky.” And there was evening, and

there was morning—the second day 9 And God said, “Let the water

under the sky be gathered to one place, and let dry ground appear.” And

it was s0. 10 God called the dry ground “land,” and the gathered waters

2 he called “seas.” And God saw that it was good. 11 Then God said, “Let vegetation What did God say the land produced ? vegetation 1722982

the land produce vegetation: seed-bearing plants and trees on the land

that bear fruit with seed in it, according to their various kinds." And it was

s0. 12 The land produced vegetation: plants bearing seed according to

their kinds and trees bearing fruit with seed in it according to their kinds.

- plants What did God say the land produced ? vegetation 1.348307
- fruit What did God say trees bearing seed with seed bear ? their kinds 1.316559
And God saw that it was good. 13 And there was evening, and there was
morning—the third day. 14 And God said, “Let there be lights in the vault
of the sky to separate the day from the night, and let them serve as signs
_

to mark sacred times, and days and years, 15 and let them be lights in
3 the vault of the sky to give light on the earth.” And it was so. 16 God light What did God set the stars in the vault of the sky to give ? light on the earth 1.322613
made two great lights—the greater light to govern the day and the lesser
light to govern the night. He also made the stars. 17 God set them in the
vault of the sky to give light on the earth, 18 to govern the day and the
night, and to separate light from darkness.
- night What did God set the lesser light to govern ? the night 157286 00—

- vault Where did God set the stars in ? the vault of the sky 1.28823
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And God saw that it was good. 19 And there was evening, and there was
morning—the fourth day.20 And God said, “Let the water teem with living
creatures, and let birds fly above the earth across the vault of the sky."21
So God created the great creatures of the sea and every living thing with
4 which the water teems and that moves about in it, according to their water What did God say would teem with living creatures ? water 1.821832
kinds, and every winged bird according to its kind. And God saw that it
was good. 22 God blessed them and said, “Be fruitful and increase in
number and fill the water in the seas, and let the birds increase on the
earth.” 23 And there was evening, and there was morning—the fifth day.
= great creatures  What did God create of the sea ? great creatures 1.603416
Be fruitful and increase in
- birds increase  What did God bless the earth ? T:;n::ar : n::g[ ::tel':\;a;?:dlg 1.002655
increase on the earth .

24 And God said, “Let the land produce living creatures according to their
kinds: the livestock, the creatures that move along the ground, and the
wild animals, each according to its kind.” And it was so. 25 God made
the wild animals according to their kinds, the livestock according to their
kinds, and all the creatures that move along the ground according to their
5 kinds. And God saw that it was good.26 Then God said, “Let us make wild animals What did God make according to its kind ? wild animals 1.695406
mankind in our image, in our likeness, so that they may rule over the fish
in the sea and the birds in the sky, over the livestock and all the wild
animals,[a] and over all the creatures that move along the ground.” 27 So
God created mankind in his own image, in the image of God he created
them; male and female he created them
- livestock What was one of the living creatures God made according to his kinds ? wild animals 1.28823
- kinds What did God make the animals according to ? their kinds 1.4959
28 God blessed them and said to them, “Be fruitful and increase in
number; fill the earth and subdue it. Rule over the fish in the sea and the
birds in the sky and over every living creature that moves on the ground.”
s kot el e f’rﬂ;';mcfe‘;f;:fs earth Where did God say to the Israelites to fill 2 the earth o ———
for food. 30 And to all the beasts of the earth and all the birds in the sky
and all the creatures that move along the ground—everything that has
the breath of life in it—I give every green plant for food.” And it was so.

- ground Where did God say that every living creature that moves on ? the ground 1.603416
- plant What did God give to all the animals that move along the ground ? every green plant for food  1.206445
7 kil G_od saw all that he had m_ade, and it was very good. And there was day What was the sixth day morming 0
evening, and there was morning—the sixth day K
- god Who saw all that he had made ? God 1.646211
- God Who saw all that he had made ? God 1.821832
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TRACEABILITY ANALYSIS

erver Function

FID(Function ID) Function Class Link FID(Function ID) Function Class Link
DB.1.1/DB.21/DB.3.1/DB.3.3/DB.8.1/DB.11.1/DB.12.2/
F.11 signin(request) DB.1.1/DB.18.2/DB.18.3/DB.18.5 F.51 createUnit(request) DB.14.1/DB.15.1 / DB.16.1 / DB.18.1 / DB.18.2
0B.2.1/DB.3.1/DB.3.2/DB.3.5/DB45/DB5.5/
Fi1.2 signUp(request) 0B.1.1/DB.1.3/DB.18.3 F.5.2 deleteUnit(request) hostChannel DB.8.1/DB.11.1/DB.12.1 /DB.14.1 / DB.145 /
accountManager DB.15.1 / DB.16.1 DB.18.1
F13 findAccount(request) DB.1.1/DB.1.4 F.5.3 editUnit(request) pB.2.1/DB3.1/DB.3.2/DB34/DBAT/ D811/
o o o o DB.12.1 /DB.14.1 / DB.15.1 / DB.16.1 / DB.18.1
F1.4 modifyAccount(request) DB.1.1 /DB.1.4/ DB.18.1 F.6.1 enterChannel(request) DB.1.2/0B.2.1/DB 11:}15[153 121 3/DB.A2.1/0B18.11
questChannel DB.1.2/DB.2.1/DB.3.1/DB.7.1/DB.8.1/DB8S5/
F.21 sendEmail(uid) emailSender F6.2 exitChannel(request) DB.10.1 /DB.11.1 /DB.11.2 /DB.12.1 / DB.16.1 /
DB.17.1 / DB.17.5 / DB.18.1
F.3.1 createChannel(request) 0B.1.2/0B.21/0B.2.3/0B.11.3/0B.12.3/0B.18.1/DB.18.2 F.7.1 createBKD(request) 0B.3.1/DB.4.1/08.4.3/D0B.12.1/08.13.3/0B.14.3/DB.18.1
AN .2.1 2. 3.1 140 14
F32 deleteChannel(request) DB.1.2/DB.2.1/DB2.5/DB.3.1 /DB /DBA4S/ F7.2 editBKD(request) DB.1.2 /DB.4.1 /DB.44 /DB.13.1 / DB.18.1
DB.15.1 / DB.15.5 / DB.18.1
F33 requestChannel(reauest DE1.2/D8.2.1/DB3.1 /D881 /DB /DB.14/ . enerateQuestion(request) o DB.2.1/DB.42/DB 5.5 /DBE1/DB.10.1/DB10.3/DB.10.5/
’ = (request DB.15.1/DB.16.1 / DB.18.1 : 9 rea ag3p DB.12.1/DB.14.2/DB.15.1 / DB.15.3 / DB.17.3 / DB.18.1
DB.1.2/DB.21/DB3.1/DB4.1/D8B6.1/0B72/
F.3.4 requestUnit(request) n " DB.8.1/DB82/DB9.1/DB.11.1 /DB.12.1 / DB.14.1 F.9.1 choiceProblemGenerator(nouns, agset) choiceProblemGenerator DB.5.3/DB6.3
nnellian. r
cranneffanage /DB.15.1/DB.15.2 / DB.16.1 / DB.18.1
1 101 1 DB.1.2/DB.3.1/DB.3.2/DB6.1/DB6.2/DB.6.4/DB6.S/
F.3.5 requestHostChannelList(token) DB.1.2/DB.2.1 /DB.12.1 / DB.18.1 / DB.18.2 F.10.1 verifyQuestion(request) DB.7.1/DB.122/DB.15.1/DB.15.2 / DB 18.1
DB.1.2/DB.2.1/DB3.1/DB.3.2/D8B4.1/DB6.1/
considerQuestion DB.7.1/DB7.2/DB.73/DB.74/DB81/DB82/
F.3.6 requestGuestChannelList(token) DB.1.2/DB.2.1 /DB.11.1 / DB.18.1 / DB.18.2 F.10.2 makeReservation(request) DB.8.3/DB84/DBS.2/DB9.3/DB.10.3/DB.11.1/
DB.12.1 /DB.12.2 / DB.14.1 / DB.14.2 / DB.15.1 /
DB.15.2 / DB.16.1 / DB.16.3 / DB.18.1
DB.1.2/DB.3.1/DB.3.2/DB.6.2/DB.8.1/DB.8.2/DB.8.4/
F.a1 channeloinCodeGenerate() channelloinCodeGenerator DB.21 F.11.1 submitPaper(request) testPaperCollector DB.9.2/DB.9.4/DB.10.3/DB.12.1/DB.16.1/DB.18.2/
DB.16.4/DB.17.3/DB.18.1
F.121 refresh(request) feedManager DB.1.2/DB.2.1/DB.3.1/DB.10.1/DB.17.1/DB.18.1




TRACEABILITY ANALYSIS

B Function

DID(DB ORM 1D) Function Model(Class) | DID(DB ORM ID) Function Model(Class) | DID(DB ORM 10} Function Model(Class) | DID(DE ORM ID) Function Model(Class|
DB.1.1 User.objects. filter() pB&.1 QAPair.objects. filter() DB.11.1 Guest.objects. filter() DB.15.1 UnitQA objects. filter()
DB.1.2 User.objects.get() DBo.2 QAFair.objects.get) DB.11.2 Guest.objects.get() DB.15.2 UnitQA.objects.get()
D8.1.3 User.objects.create() User DpBA3 QAPair.objects.create() QAPair D8.11.3 Guest.objects.create() Guest D8.15.3 UnitQA objects. create() UnitQA
DB.1.4 User.save) DEA4 QAPair.save() DB.11.4 Guest.save() DB.15.4 UnitQA save()
DB.15 User delete() DB&S QAFair delete() DB.11.5 Guest delete() DB.15.5 UnitQA delete()
DB.2.1 Channel objects. filter() DB.7.1 TestPlan.objects. filter() D8.12.1 Host.objects. filter() DB.18.1 UnitTest objects. filter()
DB.2.2 Channel.objects.get() DB.7.2 TestPlan.objects.get() D8.12.2 Host.objects.get() DB.16.2 UnitTest.objects.get()
D8.23 Channel objects.create() Channel D873 TestPlan objects create() TestPlan DB8.12.3 Host objects create() Host D8.16.3 UnitTest objects. create() UnitTest
CB24 Channel save() DB.7.4 TestPlan.save() DB.12.4 Host.save() DB.18.4 UnitTest.save()
DB.25 Channel delete() DB7S TestPlan deletel) D8.12.5 Host delete() DB.18.5 UnitTest.delete()
DB8.3.1 Unit.objects. filter() DB.8.1 TestSet.objects. filter() DB8.13.1 BKDOwner.objects. filter() DB.AT.1 UserNews.objects. filter)
peaz Unit objects. get() pes2 TestSet objects.get() D8132 BKDOwner.objects.get() DB.17.2 UserNews objects.get()
D8.3.3 Unit.objects.create() Unit DB.8.3 TestSet.objects.create() TestSet DB8.13.3 BKDOwner.objects.create() BKDOwner DB.IT.3 UserNews. objects.create() UserNews
DB.3.4 Unit.save() DB84 TestSet.save() DB.12.4 BKDOwner.save() DB.17.4 UserNews.save()
D835 Unit.delete) DBSS5 TestSet delete() D8.12.5 BKDOwner delete() DB.ITS UserNews delete()
DB.4.1 BKD.objects. filter() DBS.1 TestPair.objects. filter() DB.14.1 UnitBKD.objects. filter() DB.18.1 Token.objects. fiter()
DB.4.2 BKD.objects.get() DB.S8.2 TestPair.objects.get() DB.14.2 UnitBKD.objects.get() DB.18.2 Token.objects.get()
DB.4.2 BKD.objects. create() BKD DBS.2 TestPair.objects.create() TestPair DB.14.3 UnitBKD.objects. create() UnitBKD DB.18.3 Token.objects.create() Token
DB.4.4 BKD.save{) DB.S.4 TestPair.save() DB.14.4 UnitBKD.save() DB.18.4 Token.save()
DB.4.5 BKD.delete() DBASS TestPair.delete) DB.14.5 Unit8KD.delete) DB.18.5 Token.delete()
D8.5.1 QASet.objects. filter() D8.10.1 News.objects. filter()
D852 QASet objests get() D8.10.2 News objects get()
DB.5.3 QASet objects.create() QASet D8.10.3 News.objects.create() News
DB.5.4 QASet.savel) D8.10.4 News.save()
DB.5.5 QASet delete() DB.10.5 News delete()
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